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1. Lab2_2 M= HZFEIX|2 Wind Chill Temperature (WCT) IndexS A4t
Sl T2 e XEASHD}
http://www.kma.go.kr/HELP/basic/help_01_07.jsp

2. enum WindChillTemperaturelndex { DANGER, WARNING, CAUTION,
AWARE }
= WindChillTemperaturelndex getindex() M|Zt2 & X|4=5 Htstsict

3. WindChillTemperaturelndexCalculator S A0 M=
= double calculate(double T, double V) MZ2 & S 74|*._"".;

x‘||?:."_%E7mt =13.12 + 0.6215*T - 11.37 * VA0.16 + 0.3965 * 0.16 *TT: 7I2(HMN),

EZ(km/h) 1

= M2 tHEESALEA YHE YoM HE2EE SO S routines F7HBHC.

1. Lab2_3 0= €X|4= Heat IndexE AAtSte T2 1S EHSICE
http://www.kma.go.kr/HELP/basic/help_01_04.jsp

2. enum HeatIndex { VERY_HIGH, HIGH, USUAL, LOW }
= Heatindex getindex() MZ=2% X5 gEtsiC)

3. HeatIndexCalculator 22|20 M=
= double calculate(double F, double R) @X|%= gtS A AtstC},
HX| 47 = -42.379 + (2.04901523*F) + (10.14333127*R) - (0.22475541*F*R) -
(0.00683770*F*F) - (0.05481717*R*R) + (0.00122874*F*F*R) + (0.00085282*F*R*R) -
(0.00000199*F*F*R*R) [F: SN2, R: ATHSE]
n EX|= MEEQ AMEAL Y Z 2HotN EX|$=E EHOALE S routineg F7tEHCH
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1. Lab2_4 O M= BEI{X|5 Decomposition IndexS AlAtsts T2 1S &

SRS 1. Lab2_5 OM= ZQI0| Yot CHE 43 X (M| /EH7|d 88) &
ML} http://www.kma.go.kr/HELP/basic/help_01_03_01.jsp IS ZgoiC
2. enum Decompositionindex { HIGH, NORMAL, LOW }
= Decompositionindex getindex() ST X|=Z dtetstr},
3. DecompositionindexCalculator S22 A0A &
= double calculate(double RH, double T) 2O K| Zt2 AHAtstCt.
BafX|$ZF = ((RH - 65)/14) * (1.054*T) [RH: HTHEE (%), T: 7|2 (EM)]
s RIOiX|$ AEHQ ALEX Y S Lot RIfX|$+E EYEAHLL & routines 7+t
ct.
https://introcs.cs.princeton.edu/java/23recursion/
X =2 (Recursive call) MH=zs
o E0IM A7 XS B #2E AS MHZF (recursive call)0|2k1 &t o WEZYS Fololes g MY
o & WEOM AFRE[= XY #H0| gIE2 AHY| RIS S| Mo 4 on=nx(-1Dxn-2)x..x1T=nx(n-1)! (wheren >=1)
=2 2% 20|k Atz EEY (At7| A2 CHA] REHELE MER XY R n=ES 1 =0
H-S0| MEl= AS 2t F)  OFOF 10| QEICH K7L} ZHO T 7f 12 Hi3t = { ,lfn -
o HASES WHLZ = UEE ARSI BRsH £20| HEA| EXf8|0} = B9 00| 08It ACH n (0 - 11 Bt n(-Dt ifn>0
g (H=E BE 24)

o MHSEL AMR o WEZ|Y (factorial), X|CHE LS, O ELIK| =Y, S

static int factorial(int n){
if (n == 0)
return 1;
else
return(n * factorial(n-1));

}

factorial(1); // 1
factorial(5); //5'=5*4*3*2*1=120
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= 180} 282 1 = tOf nO| 0O|H, gL 12 Hhet el
« 38 O|SHE{S| nBE (n- 1B + (0 - 28 = Bt} 0] 00| OFLIZHE!, b * power(b, n - 1)& BHet "
F(n)=F(n—1)+Fn—2) forn>=2,withF(0) =0and F(1) =1
static long fibonacci(int n) { static int power(int b, int n){
if (n == 0) return O; if (n ==0)
if (n == 1) return 1; ITMTHZE 8§E = return 1: n 1 ifn=0
} return fibonacci(n — 1) + fibonacci(n — 2); olse b = b s b(n_l) if n>0
fibonacci(1) i1 return(b * power(b, n-1));
fibonacci(2) 1 }
fibonacci(3) 112
fibonacci(6) 118 power(3,2); //3/2=3*3=9
power(5, 5); //5"5=5*5*5%*5%5=23125
- oo <
MU=E N M=
0 Z|CHS 24 (Greatest Common Divisor) O Lab2_1 ~ Lab2_52t E1ME XX 2 FO{A e-learningd| 1tH| N=
o $0E
= Dt a>b, ged(a,b) = ged(b, a%b)

_ a ifb=0
ged(a,b) = {gcd(b, a%b) ifb>0
static int gcd(int a, int b) {

if (b ==0)
return a; / MH=zE BE A
else

return gcd(b, a%b);

}
gcd(12, 4); // 4
gcd(12, 18); /] 6




